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CHEMISTRY



1. Consider the following reactions :

(a) 
+ Cl anhyd. AlCl3

(b) 
+ Cl (excess)2

anhyd. AlCl3
dark

Cl Cl

ClCl

Cl Cl

(c) 
+ CH =CH-Cl2

CH=CH2

anhyd
AlCl3

(d) 
+ CH =CH-CH Cl2 2

CH - CH = CH2 2

anhyd
AlCl3

Which of these reactions are possible ?
(1) (a) and (b) (2) (b) and (d)
(3) (b), (c) and (d) (4) (b) and (d)

1. fuEufyf[ kr  vfHkfØ; kvksa i j  fopkj  dhft ,  :

(a) 
+ Cl 

fut Zy  AlCl3 (b) 
+ Cl (excess)2

fut Zy  AlCl3

va/ksj k

Cl Cl

ClCl

Cl Cl

(c) 
+ CH =CH-Cl2

CH=CH2

fut Zy
AlCl3

(d) 
+ CH =CH-CH Cl2 2

CH - CH = CH2 2

fut Zy
AlCl3

bu vfHkfØ; kvksa esa l s dkSu l h l aHko gS ?

(1) (a) r Fkk (b) (2) (b) r Fkk (d)

(3) (b), (c) r Fkk (d) (4) (b) r Fkk (d)



Sol. 4 (B,D)

B       + Cl (excess)2
Anhyd. AlCl3

Dark

Cl
Cl

Cl

Cl
Cl

Cl

(Hexachlorobenzene)

D      +CH =CH—CH —Cl2 2

Anhyd.

AlCl3
CH —CH=CH2 2

2. For the reaction 2H2(g)+2NO(g) N2(g)+2H2O(g) the observed rate expression is, rate =
Kf(NO)2[H2]. The rate expression for the reverse reaction is :
(1) Kb[N2[H2O]2/[NO] (2) Kb[N2][H2O]2

(3) Kb[N2][H2O] (4) Kb[N2][H2O]2/[H2]

2. vfHkfØ; k 2H2(g)+2NO(g) N2(g)+2H2O(g) ds fy,  i zsf{kr  nj  O; t ad] nj  = Kf(NO)2[H2] gSA mRØfer  vfHkfØ; k

ds fy,  nj  O; at d gS :
(1) Kb[N2[H2O]2/[NO] (2) Kb[N2][H2O]2

(3) Kb[N2][H2O] (4) Kb[N2][H2O]2/[H2]
Sol. bonus

3. The correct order of stability for the following alkoxides is :

O- O- O-

O N2NO2 NO2

(A) (B) (C)

(1) (B) > (C) > (A) (2) (B) > (A) > (C)
(3) (C) > (B) > (A) (4) (C) > (A) > (B)

3. fuEufyf[ kr  , sYdkWDl kbMksaa ds fy,  LFkkf; Ro dk l gh Øe gS :

O- O- O-

O N2NO2 NO2

(A) (B) (C)

(1) (B) > (C) > (A) (2) (B) > (A) > (C)
(3) (C) > (B) > (A) (4) (C) > (A) > (B)



Sol. 3
C > B > A
Correct order of stability is :

O N2
NO2 NO2

O—
O O

(—m & R)
(R only) (—I only)

> >

4. In the following reaction products (A) and (B) respectively, are :
NaOH + Cl2  (A) + side products
(hot and conc.)
Ca(OH)2+Cl2  (B) + side products
(dry)
(1) NaOCl and Ca(ClO3)2 (2) NaClO3 and Ca(OCl)2

(3) NaOCl and Ca(OCl)2 (4) NaClO3 and Ca(ClO3)2

4. fuEufyf[ kr  vfHkfØ; kvksa esa] mRi kn (A) r Fkk (B) Øe' k% gS :
NaOH + Cl2  (A) + vfr fj Dr  mRi kn

(m".k r Fkk l kUnz)
Ca(OH)2+Cl2  (B) + vfr fj Dr  mRi kn
(' kq"d)
(1) NaOCl r Fkk Ca(ClO3)2 (2) NaClO3 r Fkk Ca(OCl)2

(3) NaOCl r Fkk Ca(OCl)2 (4) NaClO3 r Fkk Ca(ClO3)2

Sol. 2

5. The equation that is incorrect is :

(1) 
     
 

0 0 0
m m mNaBr NaCl KBr

0
m KCl

    

  (2) 
     
 

2

0 0 0
m m mH O HCl NaOH

0
m NaCl

    

 

(3) 
     
 

0 0 0
m m mNaBr Nal KBr

0
m NaBr

    

  (4) 
     
 

0 0 0
m m mKCI NaCl KBr

0
m NaBr

    

 

5. og l ehdj .k t ks xyr  gS] gS :

(1) 
     
 

0 0 0
m m mNaBr NaCl KBr

0
m KCl

    

  (2) 
     
 

2

0 0 0
m m mH O HCl NaOH

0
m NaCl

    

 

(3) 
     
 

0 0 0
m m mNaBr Nal KBr

0
m NaBr

    

  (4) 
     
 

0 0 0
m m mKCI NaCl KBr

0
m NaBr

    

 

Sol. 3

(3)  0 0 0 0
NaBr NaI KBr NaBr Incorrect      



6. The bond order and the magnetic characteristics of CN- are :

(1) 
12 ,diamagnetic
2

(2) 
12 ,paramagnetic
2

(3) 3, paramagnetic (4) 3, diamagnetic

6. CN- ds vkca/k Øe r Fkk pqEcdh;  vfHky{k.k :

(1) 
12 ,
2

i zfr pqEcdh; (2) 
12 ,
2

vuqpqEcdh;

(3) 3, vuqpqEcdh; (4) 3, i zfr pqEcdh;

Sol. 4

7. The number of possible optical isomers for the complexes MA2B2 with sp3 and dsp2 hydridized
metal atom. respectively, is :
Note : A and B are unidentate netural and unidentate monoanionic ligands, respectively.
(1) 0 and 0 (2) 2 and 2 (3) 0 and 1 (4) 0 and 2

7. sp3 r Fkk dsp2 l adfj r  /kkr qvksa ds l kFk l adqy MA2B2 ds fy,  l aHkkfor  /kzqo.k l eko; oksa dh l a[ ; k gS :

uksV : A r Fkk B Øe' k% , d nUr qj  mnkl hu r Fkk , d nar qj  , d&vk; fud l ayXuh gSaA

(1) 0 r Fkk 0 (2) 2 r Fkk 2 (3) 0 r Fkk 1 (4) 0 r Fkk 2
Sol. 1

8. For the following reactions

CH CH CH Br + Z3 2 2

k e

k
eelimination

substitu
tion

CH CH CH Z+Br3 2 2

CH CH–CH +HZ+Br3 2

where,

Z =CH CH O3 2 (A) or H C – C – O3 (B)

CH3

CH3

Ks and Ke, are respectively, the rate constants for substitution and elimination and 
s

e

k
k

   the

correct options is

(1) e e  K (B) > K (A)B A and   (2) e e  K (A) > K (B)B A and  

(3) e e  K (B) > K (A)A B and   (4) e e  K (A) > K (B)A B and  



8. fuEufyf[ kr  vfHkfØ; k i j  fopkj  dhft , A

CH CH CH Br + Z3 2 2

k e

k
e

foy ksi u

i zfr LFkki
u

CH CH CH Z+Br3 2 2

CH CH–CH +HZ+Br3 2

t gk¡,

Z =CH CH O3 2 (A)  H C – C – O; k 3 (B)

CH3

CH3

Ks r Fkk Ke, Øe' k% i zfr LFkki u , oa foyksi u ds fy ; s osx fLFkj kad gS] vkSj  
s

e

k
k

   gSa] l gh fodYi  gS ________A

(1) e e  K (B) > K (A)B A   r Fkk (2) e e  K (A) > K (B)B A   r Fkk

(3) e e  K (B) > K (A)A B   r Fkk (4) e e  K (A) > K (B)A B   r Fkk

Sol. 3

A > B and    e B e AK K

Z =CH CH O(A)3 2 or CH —C—O3

CH3

CH3

(B)

s

e

K
K

 

Substitution will be fast when z = (A) CH CH O3 2

and elimination will be fast when z = CH —C—O3

CH3

CH3

(B)

9. Indentify the correct labels of A,B and C in the following graph from the options given below :

no. 
of 

molecules

speed

A B
C

Root mean square speed (Vrms); most probable speed (Vmp); Average speed (Vav)
(1) A - Vmp; B- Vav C - Vrms (2) A - Vmp; B - Vrms; C - Vav

(3) A - Vav; B - Vrms; C - Vmp (4) A - Vrms; B - Vmp; C - Vav



9. uhps fn; s x; s fodYi ksa esa l s fuEufyf[ kr  vkys[ k esa A,B r Fkk C ds l gh yscy dks i gpkfu,  :

v.kqvksa
dh 

l a[ ; k

pky

A B
C

oxZ ek/;  ewy pky (Vrms); i zkf; dr e pky (Vmp); vkSl r  pky (Vav)
(1) A - Vmp; B- Vav C - Vrms (2) A - Vmp; B - Vrms; C - Vav

(3) A - Vav; B - Vrms; C - Vmp (4) A - Vrms; B - Vmp; C - Vav

Sol. 1
We know that
Vrms > Vavg > Vmp

C  Vrms

B  VAvg

A  Vmp

10. Two open beakers one containing a solvent and the other containing a mixture of that solvent
with a non voltatile solute are together selated in a container. Over time :
(1) The volume of solution does not change and the volume of the solvent decreases.
(2) The volume of the solution increases and the volume of the solvent decreases.
(3) The volume of the solution decreases and the volume of the solvent increases.
(4) The volumer of the solution and the solvent does not change.

10. nks [ kqys chdj ] , d ft l esa , d foyk; d gS r Fkk nwl j k ft l esa , d vok"i ' khy foys;  ds l kFk ml  foyk; d dk feJ.k gSa] dks , d

l kFk i k=k ds vUnj  cUn fd; k x; k gS] dqN l e;  ds ckn :

(1) foy; u ds vk; r u esa dksbZ i fj or Zu ugha gksr k gS r Fkk foyk; d dk vk; r u de gks t kr k gSA

(2) foy; u dk vk; r u c<+ t kr k gS r Fkk foyk; d dk vk; r u de gks t kr k gSA

(3) foy; u dk vk; r u de gks t kr k gS r Fkk foyk; d dk vk; r u c<+ t kr k gSA

(4) foy; u r Fkk foyk; d nksuksa ds vk; r u esa dksbZ i fj or Zu ugha gksr k gSA
Sol. 1

Solution Solvent

0 0
solvent SolutionP P  Hence

Volume of solvent decrease & Volume of solution increases



11. The redox reaction among the following is :
(1) reaction of [Co(H2O)6]Cl3 With AgNO3

(2) formation of ozone form atmosphere oxygen in the presence of sunlight.
(3) combination of dinitrogen with dioxygen at 2000 K
(4) reaction of H2SO4 with NaOH.
fuEufyf[ kr  esa l s j sMkWDl  vfHkfØ; k gS %

(1) [Co(H2O)6]Cl3 dh AgNO3 ds l kFk vfHkfØ; k

(2) l w; Z ds i zdk' k dh mi fLFkfr  esa ok; qeaMyh;  vkWDl ht u l s vkst ksu dk cuuk
(3) MkbukbVªkst u dk MkbvkWDl ht u ds l kFk 2000 K i j  l a; kst u

(4) H2SO4 dh NaOH ds l kFk vfHkfØ; k
Sol. 3

12. A chromatography column, packed with silica gel as stationary phase, was used to separate a
mixture of compounds consisting of (A) benzanilide (B) aniline and (C) acetophenone. When the
column is eluted with a mixture of solvents, hexane : ethylacelate (20:80), the sequence of
obtained compounds is :
(1) (B), (C) and (A) (2) (B), (A) and (C)
(3) (A), (B) and (C) (4) (C), (A) and (B)
; kSfxdksa (A) csUt fuykbM (B) , sfuyhu r Fkk (C) , sl hVksfQuksu ds , d feJ.k dks i F̀kd dj us ds fy ,  , d fLFkj  i zkoLFkk esa
fl fydk t Sy l s Hkj s ØkseksVksxzkfQd dkye dk mi ; ksx fd; k t kr k gSA t c dkye dks foyk; dks gsDl su&, sfFky , sl hVsV]

(20:80) ds feJ.k ds l kFk {kkfyr  fd; k x; k r ks i zkIr  ; kSfxdksa dk vuqØe gS :
(1) (B), (C) r Fkk (A) (2) (B), (A) r Fkk (C)
(3) (A), (B) r Fkk (C) (4) (C), (A) r Fkk (B)

Sol. 3

13. The refining method used when the metal and the impurities have low and high melting tem-
peratures, respectively, is :
(1) vapour phase refining (2) liquation
(3) zone refining (4) distillation
t c /kkr q r Fkk vi nzO; ksa ds xyu r ki  Øe' k% fuEu r Fkk mPp gksr s gSa] r ks fuEufyf[ kr  esa l s fdl  i fj "dj .k fof/k dk mi ; ksx fd; k

t kr k gS :
(1) ok"i  i zkoLFkk i fj "dj .k (2) xyfud i F̀kDdj .k

(3) eaMy i fj "dj .k (4) vkl ou
Sol. 2

14. Which of the following statements is correct ?
(1) Gluconic acid is obtained by oxidation of glucose with (HNO3)
(2) Gluconic acid is a dicarboxylic acid.
(3) Gluconic acid can from cyclic (acteal/hemiacetal) structure
(4) Gluconic acid is a partial oxidation product of glucose
fuEufyf[ kr  esa l s dkSu l k dFku l gh gS \
(1) Xywdksfud vEy dks Xywdksl  ds (HNO3) ds l kFk vkWDl hdj .k } kj k cuk; k t k l dr k gSA

(2) Xywdksfud vEy , d MkbdkWcksZfDl fyd vEy gSA

(3) Xywdksfud vEy pØh;  , sl hVSy@gSeh, sl hVSy cuk l dr k gSA

(4) Xywdksfud vEy Xywdksl  dk , d vkaf' kd mi p; u mRi kn gSA



Sol. 4
Gluconic acid is a partial oxidation product of Glucose

CHO

(CHOH)4

CH OH2

Br /H O2 2

Partial oxidation

COOH

(CHOH)4

CH OH2

Gluconic acid

15. Within each pair of elements F & Cl, S & Se, and Li & Na, respectively,  the elements that release
more energy upon and electron gain are :
(1) Cl, Se and Na (2) F, Se and Na
(3) Cl, S and Li (4) F, S and Li

15. r Roksa ds i zR; sd ; qXe Øe' k% F & Cl, S & Se, r Fkk Li & Na esa r Ro t ks , d bysDVªkWu&yfC/k i j  vf/kd Åt kZ foeksfpr  dj r s

gSa] gaS :
(1) Cl, Se r Fkk Na (2) F, Se r Fkk Na
(3) Cl, S r Fkk Li (4) F, S r Fkk Li

Sol. 3

16. The ammonia (NH3) released on quantiative reaction of 0.6 g urea (NH2CONH2) with sodium
hydroxide (NaOH) can be neutralized by :
(1) 100 ml of 0.2 N HCl (2) 200 ml of 0.4 N HCl
(3) 200 ml of 0.02 N HCl (4) 100 ml  of 0.1 HCl

16. 0.6 g ; wfj ; k (NH2CONH2) ds l ksfM; e gkbMªkWDl kbM (NaOH) ds l kFk , d ek=kkRedr % vfHkfØ; k l s fudyus okyh

veksfu; k (NH3) dks fuEu esa l s ft l l s mnkl hu fd; k t k l dr k gSa] gSa :
(1) 0.2 N HCl dk 100 ml (2) 0.4 N HCl dk 200 ml
(3) 0.02 N HCl dk 200 ml (4) 0.1 HCl dk 100 ml

Sol. 1

NH2CoNH2 
NaOH  2NH3 + Na2CO3

0.6 gm
10–2 mole, 10m. moles
m. moles of NH3 = 20
m. moles of HCl = 20m moles
Hence 1 is correct.

17. Among statements (a)-(d), the correct ones are :
(a) Decomposition of hydrogen peroxide gives dioxygen.
(b) Like hydrogen peroxide, compounds, such as KCIO3, Pb(NO3)2 and NaNO3 when heated liber-
ate dioxygen.
(c) 2-Ethylanthraquinone is useful for the industrial preparation of hydrogen peroxide.
(d) Hydrogen peroxide is used for the manufacture of sodium perborate.
(1) (a),(b) and (c) only (2) (a), (c) and (d) only
(3) (a) and (c) only (4) (a),(b),(c) and (d)



17. dFkuksa (a)-(d) esa, l gh dFku gS :
(a) gkbMªkst u i j kWDl kbM dk fo?kVu MkbvkWDl ht u nsr k gSA

(b) gkbMªkst u i j kWDl kbM dh r j g] ; kSfxd t Sl s KClO3, Pb(NO3)2 r Fkk NaNO3 dks t c xeZ dj r s gSa MkbvkWDl ht u fudyr k

gSA

(c) 2-, sfFkyvUFkzkfDouksu dks gkbMªkst u i j kWDl kbM ds vkS| ksfxd fuekZ.k ds fy ,  mi ; ksx esa yk; k t kr k gSA

(d) gkbMªkst u i j kWDl kbM dk mi ; ksx l ksfM; e i j cksj sV ds mRi knu esa fd; k t kr k gSA

(1) (a),(b) r Fkk (c) ek=k (2) (a), (c) r Fkk (d) ek=k

(3) (a) r Fkk (c) ek=k (4) (a),(b),(c) r Fkk (d)
Sol. 4

2–anthraquinone should be 2–anthraquinol

18. In the following reaction sequence,

NH2

CH3

Ac O2

AcOH
BA Br2

The major product B is :

(1) 

NHCOCH3

CH Br2

Br

(2) 

NHCOCH3

CH3

COCH3

(3) 

NHCOCH3

CH3

Br
(4) 

NHCOCH3

CH3

Br

18. fuEufyf[ kr  vfHkfØ; k vuqØe esa,

NH2

CH3

AC O2
ACOH

BA Br2

eq[ ;  mRi kn B gS :

(1) 

NHCOCH3

CH Br2

Br

(2) 

NHCOCH3

CH3

COCH3

(3) 

NHCOCH3

CH3

Br
(4) 

NHCOCH3

CH3

Br



Sol. 1
NH2 NHCOCH3 NHCOCH3

CH3 CH3 CH3

Ac O2 Br2

AcOH

Br

19. Among the statements(a)-(d) the incorrect ones are :
(a) Octahedral CO(III) complexes with strong fields ligands have very high magnetic moments.

(b) When  0< P, the d-electron configuration of Co(III) in an octahedral complex is 4 2
eg gt e

(c) Wavelength of light absorbed by [Co(en)3]3+ is lower than that of [CoF6]3-

(d) If the  0 for an octahedral complex of CO(III) is 18,000 cm-1, the  r for its tetrahedralal
complex with the same ligand be 16,000 cm-(1)
(1) (c) and (d) only (2) (a) and (b) only
(3) (b) and (c) only (4) (a) and (d) only

19. (a)-(d) esa fn; s x; s dFkuksa esa] xyr  gS :
(a) i zcy {ks=k l ayXuh ds l kFk v"BQydh;  Co(III) l adj  dk pqEcdh;  vk?kw.kZ cgqr  mPp gksr k gSA

(b) t c  0< P gks r ks , d v"BQydh;  l adj  esa Co(III) dk d-bysDVªkWu foU; kl  gS 4 2
eg gt e

(c) [CoF6]3- dh r qyuk esa [Co(en)3]3+ } kj k vo' kksf"kr  i zdk' k dk r j axnS/; Z de gSA
(d) ; fn Co(III) ds , d v"BQydh;  l adj  ds fy ,  0 18,000 cm-1 gSa, r ks bl ds pr q"Qydh;  l adj  ds fy ; s ml h l ayXuh
ds l kFk  t gksxk 16,000 cm-1

(1) (c) r Fkk (d) ek=k (2) (a) r Fkk (b) ek=k
(3) (b) r Fkk (c) ek=k (4) (a) r Fkk (d) ek=k

Sol. 4

20. In the following reactions sequence, structure of A and B respectively will be :

CH Br2

HBr Na
EtherA   (Intramolecular Product) B

(1) 

Br Br

 OH & 

CH Br2

(2) 

OH OH

 Br   & 

CH Br2

(3) 

Br

 OH  &

CH Br2

CH Br2

(4) 

OH

 Br  

CH Br2

OH

&



20. fuEufyf[ kr  vfHkfØ; k vuqØe esa A r Fkk B dh l aj puk, ¡ Øe' k% gksaxh :

CH Br2

HBr NaA 
bZFkj  (vkar j vkf.od mRi kn) B

(1) 

Br Br

 OH & 

CH Br2

(2) 

OH OH

 Br   & 

CH Br2

(3) 

Br

 OH  &

CH Br2

CH Br2

(4) 

OH

 Br  

CH Br2

OH

&

Sol. 4

O

CH Br2

HBr Br

CH Br2

OH

Na/ether

OH

So, the correct answer is (4)

21. The standard heat of formation   0
f 298H  of ethane (in kj/mol), if the heat of combustion of

ethane, hydrogen and graphite are - 1560, -393.5  and -286 Kj/mol, respectively is
21. ; fn bFksu] gkbMªkst u r Fkk xzkQkbV dh ngu m"ek; sa Øe' k% - 1560, -393.5 r Fkk -286 Kj/mol gSa] r ks bFksu dh ekud

l aHkou m"ek   0
f 298H  gS _________A

Sol. –192.5 kJ
2Cs + 3H2  C2H6

0 0 0
f 2 6 C CH C H H Reactant H product    

0 0 0
C (s) C 2 C 2 62 H C 3 H H H C H     

= 2 × –286 + 3× (–393.5) + 1560
= –572 – 1180.5 + 1560
= –1752.5 + 1560 = – 192.5 kJ



22. Consider the following reactions :
Nacl + K2Cr2O7+H2SO4  (A) + side products
                        (conc.)
(A) + NaOH  (B) + Side products
(B) +H2SO4+ H2O2  (C) Side products
         (dilute)
The sum of the total number of atoms in one molecule each of (A) and (B) and (C) is

22. fuEufyf[ kr  vfHkfØ; kvksa i j  fopkj  dhft ,  %

Nacl + K2Cr2O7+H2SO4  (A) + vfr fj Dr  mRi kn

                        (l kUnz)

(A) + NaOH  (B) + vfr fj Dr  mRi kn

(B) +H2SO4+ H2O2  (C) + vfr fj Dr  mRi kn

         (r uq)

(A), (B) r Fkk (C) i zR; sd ds , d v.kq esa r Roksa dh dqy l a[ ; k dk ; kssx gS ___________A

Sol. 18.00

NaCl + K2Cr2O7 + H2SO4  
 

2 2
A

CrO Cl Side product

   
2 2 2 4

A B
CrO Cl NaOH Na CrO Side product  

   
2 4 2 4 2 2 5

B C
Na CrO H SO H O CrO Side product   

23. 3 g of acetic acid is added to 250 mL of 0.1 M HCL and the solution made up to 500 mL. To 20 ML

of this solutions 
1
2

ml. of 5 M NaOH is added. The pH of the solution is

[Given : pka of acetic acid = (4)75, molar mass of acetic of acid = 60 g/mol, log 3 = 0.4771]
Neglect any changes in volume.

23. 0.1 M HCl ds 250 mL esa 3 g , sl hfVd vEy feyk; k x; k vkSj  foy; u dks 500 mL r d fd; k x; kA bl  foy; u ds 20

mL esa 5 M NaOH ds 
1
2

mL dks feyk; k x; kA foy; u dk pH gS _______A

[fn; k x; k gS : , sl hfVd vEy dk pKa = 4.75, , sl hfVd vEy dk eksyj  l agfr  = 60 g/mol, log 3 = 0.4771]

vk; r u esa fdl h i zdkj  ds i fj or Zu dh mi s{kk dj saA



Sol. 5.23

   
3CH COOH HCl

3 gm 250 0.1 m.moles





m. moles of CH3COOH = 
3 1000 50

60
 

m. moles of HCl = 25

m. moles of CH3COOH in 20 ml =  
50 20 2
500

 

m. moles of HCl = 
25 20 1

500
 

NaOH + HCl  NaCl + H2O
2.5    1
1.5    0
CH3COOH + NaOH  CH3COONa + H2O
2 1.5
0.5 0 1.5

pH = pKa + log 
1.5
0.5

= 4.75 + log 3
= 4.75 + 0.4771 = 5.23

24. The number of sp2 hybridised carbons present in "Aspartame" is
24. ", sLi kVsZe" esa mi fLFkr  sp2 l adfj r  dkcZuksa dh l a[ ; k gSa _________ A
Sol. 9

Strcuture of Aspartame is:

O

1HO
2

O

NH O
3
O

CH3

6
5

4

9
8

7

No. of sp2 hybridised carbon atom is : 9

25. The flocculation value of HCl for arsenic sulphide sol. is 30 m mol L-1 If H2SO4 is used for the
flocculatiopn of arsenic sulphide, the amount, in grams of H2SO4 in 250 ml required for the above
purposed is
(molecular mass of H2SO4= 98g/mol)

25. vkl sZfud l YQkbM foy; u ds fy ,  HCl ds mt Zu dk eku 30 m mol L-1 gSaA ; fn vkl sZfud l YQkbM ds mt Zu ds fy,  H2SO4

dk mi ; ksx fd; k t k,  r ks mi ; qZDr  mís' ;  ds fy ,  250 mL esa vko' ; d H2SO4 dh ek=kk ¼xzke esa½ gksxh _______A

(H2SO4 dh v.kq l agfr  = 98g/mol)



Sol. 0.37 gm
m.moles of HCl required for 1 lit. = 30
m. moles of H2SO4 1 lit. = 15

m. moles of H2SO4 in 250 ml = 
15
4

weight of H2SO4 = 315 10 98
4

 

= 0.37 gm




